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1. What is a bacteriophage (phage)?
a. A virus that infects bacteria
b. A bacterium that infects viruses
c. A virus that infects animals and humans. 
d. A bacterium that infects animals and humans. 

2. Why might a phage treatment that works for someone infected with Salmonella enterica serovar Typhimurium not work for someone who is infected with Salmonella enterica serovar Enteritidis? Note that these two bacteria are different variants of Salmonella enterica.
a. Host factors, such as MHC molecules, play a role in effectiveness of phage therapy. 
b. One phage usually kills a single bacterial strain.
c. The phages are designed based on an individual’s immune system. 
d. The phage treatment should work equally well for the two bacterial infections. 

3. Why are temperate phages less effective than virulent phages in phage therapy?
a. Temperate phages contain repressor genes that make them inefficient killers. 
b. Virulent phages contain repressor genes that make them efficient killers compared to temperate phages. 
c. Temperate phages do not contain repressor genes, which makes them efficient killers. 
d. Virulent phages do not contain repressor genes, which makes them inefficient killers. 

4. How can a temperate phage be made virulent? 
a. Deletion of repressor genes
b. Addition of repressor genes
c. Incubate the phage with target cells.
d. It is not possible to convert a temperate phage to a virulent one. 

5. What is one possible reason why phage therapy was ineffective in TB treatment of mice but effective in cystic fibrosis treatment in a human? 
a. Mycobacterium tuberculosis is intracellular while Mycobacterium abscessus is extracellular. 
b. Phage therapy only targets human cells. 
c. Mycobacterium abscessus is intracellular while Mycobacterium tuberculosis is extracellular. 
d. TB is caused by a virus whereas cystic fibrosis is bacterial.


